

ADDENDUM TO: "BLOCKS OF CONSECUTIVE INTEGERS
IN SUMSETS $(A + B)_t$ "

Shu-Guang Guo

Department of Mathematics

Yancheng Teachers College

Yancheng, Jiangsu, 224002, P.R. CHINA

e-mail: ychgsg@yahoo.com.cn

Abstract: Let $A, B \subseteq \{1, \dots, n\}$. For $m \in \mathbf{Z}$, let $r_{A,B}(m)$ be the cardinality of the set of ordered pairs $(a, b) \in A \times B$ such that $a + b = m$. For $t \geq 1$, denote by $(A + B)_t$ the set of the elements m for which $r_{A,B}(m) \geq t$. Recently Guo and Chen proved that for any subsets $A, B \subseteq \{1, \dots, n\}$ such that $|A| + |B| \geq (4n + 4t - 4)/3$, the sumset $(A + B)_t$ contains a block of consecutive integers with the length at least $|A| + |B| - 2t + 1$ unless $3|(n + t - 1)$ and $A = B = [1, (n + t - 1)/3] \cup [(2n - t + 4)/3, n]$. In this paper we give an addendum to this result by dealing with the case when $|A| + |B| = (4n + 4t - 5)/3$.

AMS Subject Classification: 11B75, 05D05

Key Words: additive number theory, sumsets, restricted sumsets

1. Introduction

Let G be an Abelian group written additively. For two subsets A and B of G , the sumset and the restricted sumset of A and B are defined as

$$A + B = \{a + b : a \in A, b \in B\}, \quad A \hat{+} B = \{a + b : a \in A, b \in B, a \neq b\},$$

respectively. We abbreviate $2A = A + A$, $2^{\wedge}A = A \hat{+} A$, and we use the standard notation $|A|$ for the cardinality of the set A . For $m \in G$, let $r_{A,B}(m)$ be the cardinality of the set of ordered pairs $(a, b) \in A \times B$ such that $a + b = m$. For $t \geq 1$, denote by $(A + B)_t$ the set of the elements $m \in A + B$ for which $r_{A,B}(m) \geq t$. Obviously, $(A + B)_1 = A + B$ and $(A + A)_2 = 2^{\wedge}A$ for $A \subseteq \mathbf{Z}$.

Pollard [6] first studied the sumset $(A + B)_t$ and extended the Cauchy-Davenport Theorem by showing that for $A, B \subseteq \mathbf{Z}/p\mathbf{Z}$ and $t \leq \min(|A|, |B|)$,

$$\sum_{i=1}^t |(A + B)_i| \geq \min(tp, t(|A| + |B| - t)).$$

Caldeira and Dias da Silva gave in [2] an extension of the Pollard's Theorem to an arbitrary field, and in [1] an analogue for restricted sums.

For a positive integer n , let $[1, n] = \{1, 2, \dots, n\}$. Many problems in combinatorial number theory have the following character: for a given arithmetic property P , find $f(n)$ such that if $A \subseteq [1, n]$ with $|A| > f(n)$, then A has property P . For related research, one may refer to [3-5, 7] and the references therein. Guo and Chen [3] studied the blocks of consecutive integers in $(A + B)_t$ and proved the following result.

Theorem 1. *Let n, t be positive integers. For any $A, B \subseteq [1, n]$ such that $|A| + |B| \geq (4n + 4t - 4)/3$, the sumset $(A + B)_t$ contains a block of consecutive integers with the length at least $|A| + |B| - 2t + 1$ unless $3|(n + t - 1)$ and*

$$A = B = [1, (n + t - 1)/3] \cup [(2n - t + 4)/3, n].$$

In this paper, we give an addendum to Theorem 1 by proving the following theorem.

Theorem 2. *Let n, t be positive integers. Let $A, B \subseteq [1, n]$ such that $|A| + |B| = (4n + 4t - 5)/3$ and $|A| \geq |B|$. Then the sumset $(A + B)_t$ contains a block of consecutive integers with the length at least $|A| + |B| - 2t + 1$ unless one of the following cases occurs.*

(i) $A = [1, (n + t + 1)/3] \cup [(2n - t + 5)/3, n]$, $B = ([1, (n + t + 1)/3] \cup [(2n - t + 5)/3, n]) \setminus \{(n - 2t + 4)/3 + i\}$, where $i = 0, 1, \dots, t - 1$;

(ii) $A = [1, (n + t - 2)/3] \cup [(2n - t + 2)/3, n]$, $B = [1, (n + t - 2)/3] \cup ([1, (n + t - 2)/3] \cup [(2n - t + 2)/3, n] \setminus \{(2n - t + 2)/3 + i\})$, where $i = 0, 1, \dots, t - 1$;

(iii) $A = [1, (n + t - 2)/3] \cup [(2n - t + 5)/3, n] \cup \{(n + t - 2)/3 + i\}$, $B = [1, (n + t - 2)/3] \cup [(2n - t + 5)/3, n]$, where $i = 1, 2, \dots, (n - 2t + 4)/3$.

2. Proof

In order to complete the proof of Theorem 2, we need the following lemmas which were proved in [3].

Lemma 1. *Let n, t be positive integers, and let $A, B \subseteq [1, n]$ such that $|A| + |B| \geq n + t$. Then*

$$[2n + 1 - |A| - |B| + t, |A| + |B| + 1 - t] \subseteq (A + B)_t.$$

Lemma 2. *Let A and B be two sets of integers, and let α, β be two integers such that $\alpha \leq \beta$. If $|[\alpha, \beta] \cap A| + |[\alpha, \beta] \cap B| > \beta - \alpha + t$, then $\alpha + \beta \in (A + B)_t$.*

Lemma 3. *Let n, t be positive integers, and let $A, B \subseteq [1, n]$ such that $|A| + |B| \geq n + 2t - 1$. Let $m \in [1, n]$ be the largest integer such that $m \notin (A + B)_t$ and $l \in [n + 2, 2n + 1]$ be the least integer such that $l \in (A + B)_t$. Then*

$$[l - 1 + 2t - |A| - |B|, l + 1 - 2t + |A| + |B| - 2n] \subseteq (A + B)_t,$$

$$[m - 1 + 2t + 2n - |A| - |B|, m + 1 - 2t + |A| + |B|] \subseteq (A + B)_t.$$

Proof of Theorem 2. Since $(4n + 4t - 5)/3 = |A| + |B| \leq 2n$, it follows that $n \geq 2t - 5/2$ and $3 \mid (n + t - 2)$. Thus $n \geq 2t - 1$. In the case when $n = 2t - 1$, we have $|A| + |B| = 2n - 1$. Therefore there exists $i \in [1, n]$ such that

$$A = [1, n], \quad B = [1, n] \setminus \{i\}.$$

If $i > (n + 1)/2$, then, by direct calculation, we have

$$(A + B)_t = [(n + 1)/2 + 1, 2n - (n + 1)/2].$$

If $i < (n + 1)/2$, then, by direct calculation, we have

$$(A + B)_t = [(n + 1)/2 + 2, 2n + 1 - (n + 1)/2].$$

If $i = (n + 1)/2$, then we have

$$A = [1, n], \quad B = [1, n] \setminus \{(n + 1)/2\}.$$

This is (iii). Combining the above arguments, we get the proof of Theorem 2 in this case.

In the case when $n > 2t - 1$, by $3 \mid (n + t - 2)$ we have $n \geq 2t + 2$. It follows that $|A| + |B| \geq n + 2t - 1$. Let $l \in [n + 2, 2n + 1]$ be the least integer such that $l \in (A + B)_t$. By Lemma 1 and Lemma 3, we have $l \geq |A| + |B| + 2 - t$, and

$$[l - 1 + 2t - |A| - |B|, l + 1 - 2t + |A| + |B| - 2n] \cup [2n + 1 - |A| - |B| + t, l - 1] \subseteq (A + B)_t. \quad (1)$$

It is sufficient to prove that

$$[l - 1 + 2t - |A| - |B|, l - 1] \subseteq (A + B)_t.$$

By 3 | $(n + t - 2)$, we may denote $n + t - 2 = 3u$. Then $|A| + |B| = 4u + 1$.

Case 1. $l \geq |A| + |B| + 4 - t$. Then

$$l + 1 - 2t + |A| + |B| - 2n + 1 \geq 2n + 1 - |A| - |B| + t.$$

Hence

$$[l - 1 + 2t - |A| - |B|, l - 1] \subseteq (A + B)_t.$$

Case 2. $l = |A| + |B| + 3 - t$. Then $l = 4u + 4 - t$ and (1) becomes

$$[t + 2, 2u - t + 2] \cup [2u - t + 4, 4u + 3 - t] \subseteq (A + B)_t.$$

It is enough to prove that $2u - t + 3 \in (A + B)_t$ unless (i) occurs.

Since $4u + 4 - t = l \notin (A + B)_t$, by Lemma 2 we have

$$|A \cap [u + 2, 3u + 2 - t]| + |B \cap [u + 2, 3u + 2 - t]| \leq 2u.$$

By $|A| + |B| = 4u + 1$, we have

$$|A \cap [1, u + 1]| + |B \cap [1, u + 1]| \geq 2u + 1.$$

Subcase 2.1. $|A \cap [1, u + 1]| + |B \cap [1, u + 1]| = 2u + 1$ and $|A \cap [1, u + 1]| = u + 1$. Then there exists $k \in [1, u + 1]$ such that

$$[1, u + 1] \subseteq A, \quad [1, u + 1] \setminus \{k\} \subseteq B.$$

When $k < u - t + 2$, we have

$$|[u - t + 2, u + 1] \cap A| + |[u - t + 2, u + 1] \cap B| = 2t > (u + 1) - (u - t + 2) + t.$$

It follows from Lemma 2 that $2u - t + 3 \in (A + B)_t$.

When $k \geq u - t + 2$, by

$$\begin{aligned} 2u - t + 3 &= u + 1 + (u - t + 2) = u + (u - t + 3) = \cdots \\ &= 2u - t - k + 4 + (k - 1) = 2u - t - k + 2 + (k + 1) \\ &= 2u - t - k + 1 + (k + 2) = \cdots \\ &= u - t + 3 + u = u - t + 2 + (u + 1), \end{aligned}$$

we have the number of representations of $2u - t + 3$

$$r_{[1, u + 1], [1, u + 1] \setminus \{k\}}(2u - t + 3) = t - 1.$$

If $2u-t+3 \notin (A+B)_t$, then $u+2 \notin A \cup B, u+3 \notin A \cup B, \dots, 2u-t+2 \notin A \cup B$.
 By $|A| + |B| = 4u + 1$, we have

$$\begin{aligned} A &= [1, u + 1] \cup [2u - t + 3, 3u + 2 - t], \\ B &= ([1, u + 1] \cup [2u - t + 3, 3u + 2 - t]) \setminus \{k\}. \end{aligned}$$

Let $k = u - t + 2 + i$. Then $i \in [0, t - 1]$ and

$$\begin{aligned} A &= [1, (n + t + 1)/3] \cup [(2n - t + 5)/3, n], \\ B &= ([1, (n + t + 1)/3] \cup [(2n - t + 5)/3, n]) \setminus \{(n - 2t + 4)/3 + i\}. \end{aligned}$$

This is (i). Hence, if (i) does not occur, then $2u - t + 3 \in (A + B)_t$.

Subcase 2.2. $|A \cap [1, u + 1]| + |B \cap [1, u + 1]| = 2u + 1$ and $|B \cap [1, u + 1]| = u + 1$. Then there exists $k \in [1, u + 1]$ such that

$$[1, u + 1] \setminus \{k\} \subseteq A, \quad [1, u + 1] \subseteq B.$$

When $k < u - t + 2$, similarly to Subcase 2.1, we have $2u - t + 3 \in (A + B)_t$.
 When $k \geq u - t + 2$, if $2u - t + 3 \notin (A + B)_t$, then similarly to Subcase 2.1, we get $|A| < |B|$. This contradicts the condition $|A| \geq |B|$. Hence $2u - t + 3 \in (A + B)_t$.

Subcase 2.3. $|A \cap [1, u + 1]| + |B \cap [1, u + 1]| = 2u + 2$. Then $[1, u + 1] \subseteq A$ and $[1, u + 1] \subseteq B$. Therefore

$$|[u - t + 2, u + 1] \cap A| + |[u - t + 2, u + 1] \cap B| = 2t > (u + 1) - (u - t + 2) + t.$$

By Lemma 2, we have $2u - t + 3 \in (A + B)_t$.

Case 3. $l = |A| + |B| + 2 - t$. Then $l = 4u + 3 - t$ and (1) becomes

$$[t + 1, 2u - t + 1] \cup [2u - t + 4, 4u + 2 - t] \subseteq (A + B)_t.$$

It is enough to prove that $\{2u - t + 2, 2u - t + 3\} \subseteq (A + B)_t$ unless one of (ii) and (iii) occurs.

Since $4u + 3 - t = l \notin (A + B)_t$, it follows from Lemma 2 that

$$|A \cap [u + 1, 3u + 2 - t]| + |B \cap [u + 1, 3u + 2 - t]| \leq 2u + 1 - t + t = 2u + 1.$$

By $|A| + |B| = 4u + 1$, we have

$$|A \cap [1, u]| + |B \cap [1, u]| \geq 2u,$$

and so $[1, u] \subseteq A$ and $[1, u] \subseteq B$.

In the case when $t = 1$, if $2u+1 \notin (A+B)_1$, then $u+1 \notin A \cup B$, $u+2 \notin A \cup B$, \dots , $2u \notin A \cup B$. Since $l = 4u+2 \notin (A+B)_1$, it follows that $2u+1 \notin A \cap B$. By $|A| + |B| = 4u+1$ and $|A| \geq |B|$, we have

$$A = [1, u] \cup [2u+1, 3u+1], \quad B = [1, u] \cup [2u+2, 3u+1].$$

This is (ii). Hence, if (ii) does not occur, then $2u+1 \in (A+B)_1$.

If $2u+2 \notin (A+B)_1$, then $u+2 \notin A \cup B$, \dots , $2u+1 \notin A \cup B$. Since $l = 4u+2 \notin (A+B)_1$, it follows that

$$|A \cap \{u+1, 3u+1\}| + |B \cap \{u+1, 3u+1\}| \leq 2.$$

By $|A| + |B| = 4u+1$, we have

$$|A \cap [2u+2, 3u]| + |A \cap [2u+2, 3u]| \geq 4u+1 - 2u - 2 = 2u - 1,$$

a contradiction. Hence $2u+2 \in (A+B)_1$.

In the case when $t \geq 2$, by direct calculation, we have $r_{[1,u],[1,u]}(2u-t+2) = t-1$ and $r_{[1,u],[1,u]}(2u-t+3) = t-2$.

Assume that $2u-t+2 \notin (A+B)_t$. By $[1, u] \subseteq A$ and $[1, u] \subseteq B$, we have $u+1 \notin A \cup B$, $u+2 \notin A \cup B$, \dots , $2u-t+1 \notin A \cup B$. Since $l = 4u+3-t \notin (A+B)_t$, it follows from Lemma 2 that

$$|[2u-t+2, 2u+1] \cap A| + |[2u-t+2, 2u+1] \cap B| \leq 2u+1 - (2u-t+2) + t = 2t-1.$$

By $|A| + |B| = 4u+1$, we have

$$\begin{aligned} |[2u+2, 3u+2-t] \cap A| + |[2u+2, 3u+2-t] \cap B| \\ \geq 4u+1 - 2u - (2t-1) = 2u - 2t + 2. \end{aligned}$$

It follows that $[2u+2, 3u+2-t] \subseteq A$, $[2u+2, 3u+2-t] \subseteq A$ and

$$|[2u-t+2, 2u+1] \cap A| + |[2u-t+2, 2u+1] \cap B| = 2t-1.$$

By $|A| \geq |B|$, there exists $i \in [0, t-1]$ such that

$$\begin{aligned} A &= [1, u] \cup [2u-t+2, 3u+2-t], \\ B &= [1, u] \cup ([2u-t+2, 3u+2-t] \setminus \{2u-t+2+i\}). \end{aligned}$$

Namely

$$A = [1, (n+t-2)/3] \cup [(2n-t+2)/3, n],$$

$$B = [1, (n + t - 2)/3] \cup ([(2n - t + 2)/3, n] \setminus \{(2n - t + 2)/3 + i\}).$$

This is (ii). Hence if (ii) does not occur, then $2u - t + 2 \in (A + B)_t$.

Assume that $2u - t + 3 \notin (A + B)_t$. By $r_{[1,u],[1,u]}(2u - t + 3) = t - 2$ and $|A| + |B| = 4u + 1$ we have

$$|A \cap [u + 1, 2u + 2 - t]| + |B \cap [u + 1, 2u + 2 - t]| = 1,$$

$$[2u + 3 - t, 3u + 2 - t] \subseteq A, [2u + 3 - t, 3u + 2 - t] \subseteq B.$$

Hence, there exists $i \in [1, u - t + 2]$ such that

$$\begin{aligned} A &= [1, u] \cup ([2u - t + 3, 3u + 2 - t] \cup \{u + i\}), \\ B &= [1, u] \cup [2u - t + 3, 3u + 2 - t]. \end{aligned}$$

Namely

$$\begin{aligned} A &= ([1, (n + t - 2)/3] \cup [(2n - t + 5)/3, n]) \cup \{(n + t - 2)/3 + i\}, \\ B &= [1, (n + t - 2)/3] \cup [(2n - t + 5)/3, n]. \end{aligned}$$

This is one of (iii). Hence if none of (iii) occurs, then $2u - t + 3 \in (A + B)_t$. This completes the proof of Theorem 2. □

Acknowledgments

The work is Supported by the Basic Research Program of the Natural Science of the Universities of Jiangsu Province (06KJB110121) and the Foundation for Professors and Doctors of Yancheng Teachers College.

References

- [1] C. Caldeira, J.A. Dias da Silva, A Pollard type result for restricted sums, *J. Number Theory*, **72** (1998), 153-173.
- [2] C. Caldeira, J.A. Dias da Silva, The invariant polynomials degrees of the Kronecker sum of two linear operators and additive theory, *Linear Algebra Appl.*, **315** (2000), 125-138.
- [3] S.G. Guo, Y.G. Chen, Blocks of Consecutive Integers in Sumsets $(A + B)_t$, *Bull. Austral. Math. Soc.*, **70**, No. 2 (2004), 283-291.

- [4] V.F. Lev, Blocks and progressions in subset sum sets, *Acta Arith.*, **106**, No. 2 (2003), 123-142.
- [5] M.B. Nathanson, *Additive Number Theory: Inverse Problems and the Geometry of Sumsets*, Grad. Texts in Math. **165**, Springer (1996).
- [6] J.M. Pollard, A generalization of a theorem of Cauchy and Davenport, *J. London Math. Soc.*, **8** (1974), 460-462.
- [7] A. Sárközy, Finite addition theorems II, *J. Number Theory*, **48** (1994), 197-218.